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���%���J�����������3�����8�J���3�m�K���£�^�=§°�8��¢0����������¢%�m�J�3����¤�ªB�=�H�K©����K��¢J� �J¥°���������^���K�����m�J� ���J�¡¢0��� ¦=�K�"����� §%�D��� �=�����^«��#�������D�
� �}�3���N¨��%�����J� ���3¢ � � ������¥���¢ ¨)��¢J¤ �^��§�«������m����¬5­£�J�9���K�3¢ ªB���e���J���e�#�D���J�K�¡�^�)�3�K����� �,+K��¢ ¨)�K���1¦������¡�������m�3�e¢0«J�°���
�������Z�����3����� ��¢.������� �J�m�3¢.¨)��¢J� ����� � ¢0¤�����§����¡�m� §9«J�����m�����,¬
���.¢J¤�����§����e�m� §9«J�����m��������������� �0���3¢�¨��0¢0¤"����«��m�3¢%���°�1¦=����¢"�m� §9«J�����m���J¥9�m�J�e�J��¤0�^���K���5�K�����m���'�k�������f�3���m�������3�H��ª

�m���%¨��0¢0¤=¬<­£�J���}��������§��J«J���D��� �=�����/ª
�1¦=���#��¨J���9����¢ �±ª£�����%�����D�Z�8�����D�}���J�"¨)�0¢0¤ ���¡�J�#���'�����3����� ¤ «J�����5�3���m��¢N¨�¤
�m���$�J��¤0�^���K���,� �����K�#���'��� �=������ª@���J�$�����J�K�G¨��0¢0���3�8� �®���J���K������¥=«J�#�D�m�����.�m���K�®�m���$�K���m�=�����8�J�K¥=� ��¨J����¬ /H�=���m��¢0�3��ªB���
�����f�#�����K�e��¦�� ¨J�#�D������¤9�����m�£�m� ��¥�«J���D�����������J���#�.�m�����=�3���^§%��� �)�����m���������m�����3�K�3���^���kªB�=����«0�m�=§%�D�m��¢��=�m�m�K§9¨J� ¤=¬�­£���
�m�#���f���'������¤���ª5���J�8¦���¨J�����m�=�k����«J�����)���'�m��¢%¨�¤����J�8����¤0�m���3���J�����m�3���=�'�m�����%��� �m�"�m�J�e�^§%�������K�k�����^�#�K¬��o�J�K�.¢0¤�����§����
�m� §9«J�����m�����.���£«��m�3¢.�������J� §%���m���������¡� §%��¥����J�8�����D�Z������� �J�m�3¢.¨)��¢J� ���£�H�=«J��¢�¨��}�3¦��3��§������G�����m�3�m���f��� �J¥°¨)�3�K��«��m�
�m���K¤"�J���D¦���¢J�8���J�}���J��§%�D�m�=�£���±�������J�}§��3�����H��ª��K�����^�m�#�����J���J¥9�°¨)��¢J¤%�m��§��D¦��e� �®�9�J��¤��m���K������¤%«J�J��©0�)�3���m�3¢��=�
��©J��¥��K�#�D���3¢ ���1¤�� ¨J«0�9�^�m��� �H�����k�����J�K�}¨)�0¢0� ���}����� �H� ���m�3���=�'�}��� �®����¤0�m���3���¯§��3���J���J¥�ªB«J���k�£�1¤ ��� �m� �m���"�m�K�m���0�m��¢
¨)��¢J¤�¬
; �K�m���0�m��¢}¨)��¢J� ���@§��D¦=�k¦��3�m¤¡§�«��#�$� �����H�m�#��¢J�±��� �=�����=��¨��f���'���@���J�D���$���9���J� §%���m�����,¬��G�J�£�^�)�3�K� �����@�Z�m�#���f���'�m�=�m¤

¨�¤$¢0�!���J� ��¥¡�m��§��H���K¤��)�=�m�±��� �=���/�D�¯���3�^�#�������)�����=�#��� �9�m��§��"������¢}�m�����=¨��f�3���������1¦=�k�m�e§��D¦����������J¥G�m�J���@�m�#���f���'�m�=�m¤
# �J�±�m�m���J¥�$e�m�J�}�=�K¤"�)�=�m� �m�������������m�J�}�K©0�=�'���)�����=�������m��§°�}�����K���G���J�K¤������}¢0�!�����3¢ ¬
­£�J�3�m�}�����¡§%�����J� ¤"�f�H�%¢0�&%"��«J� �m���3�Z�m�����8�������m�3�3¬ $@���#�f���0�m�J�3�m�}�����m���$¥��3�J�K�#���5�J����¨J���K§u��ª/�m�3�����#��§������m�,+3���m�����

��ª<�m�J�¡�^��� ���J�3�������m�$���J�K���£���D��«J�#���)�����#��§������K�#�('B�m�J���£�����9¥��K���K�#�������m�=¨J� �3§ � ���^��� ���J�¡¢0�m��¦��3������� §%�D��� �=������¢"�J���
�m�������&����ªB�=�H¢0¤�����§°���8�m��§�«J���D��� �=�*)'¬ ; �3�K����¢+��������� �0���3¢%¨)�0¢0���3���K���%�����m�3���=�'����� �m�"����¤0�m���3����¨��0¢0���3�H� �.���m� §9«J�����m�=�
����¢4���J�K����ªB�=�m�.�m�J�3�m�����%�N���K�3¢ ªB�������J�D�����J¥ �^�=§°�K�m�J���J¥ ��¨)��«0�����J�K���%§����m�����i����¢F�J���,�f«��f���m���K���%�����^� �m�������
����¢N�=�m���K���#�D�m�������K¬ ­£�J�%�����m�K�#�����m�������G�f¤��J���K��� ��¤ ����¦=�����%����§��J«J���D��� �=� ��ª # �m��§��%��ª£� §����=�'�-$.�<�m���K�K��� �J¥®¦=����«J§��3�/�
���=� �����^�����"��§��J«J���^���H����¢"�K�������=�'�-0¯����¢"���=���f������� ���kªB�=���K�3�3¬��o���D�£�H�G�J�K��¢"�����G�m�K¦=�K�#����¢0�&�5�K���K���H��� §��¡¢0�K����¦1���m��¦����
�m�������&���J¥°�m�J�}§����m�����®��ª@�m�J�}�=¨��f�3���3¬J­£�J���^�$���m��1�2

~v(t),~a(t), ~ω(t)
����¢

~α(t)

­£�����Z���/�0�m���$� ���J�����8����¢®���J¥=«J������¦��3� �0��� �f¤�����¢®���K�K�K���K�#�D��� �=�,¬ 6k«0�m�m���J¥"� �8�����,�m�=¥��K�m�J�3���H�$���m�}�����m«���� ��¤������������J¥
ªB���Z�9ªB«J���'�m�����

Y (t)
�J�������#� �m�������&���3�����J�$�m�K�m���0���3¢.§°���m�����®��ª/���m�K�m���0�m��¢�¨��0¢0¤"��� ���^��§�«J���D�������J�^«��#�������D��¬

Y (t) → {~r(t), ~v(t),~a(t), q(t), ~ω(t), ~α(t)}
' � )

��� ���������3�m���=��¢0�K��������� �m� ��� ¥=��¢ ¨��0¢0���3�e���J���eªB«����'��� �=� �3���N¨��"�m�K�3�N���G���J�"�f�#�D����ªB«J���'�m����� ��ª£�®�m�K�m���0�m��¢ ¨)�0¢0¤�¬
� ��¢J�!���J�����J�%�m�K�m���0���3¢N§°���m����� �J����¨J���K§r�=�,����¢0���J¥ �.�m����«0��� �=� ªB�=�¡�m�J�

Y
0�ªB«J�����m�����,¬ ���N�m�����}�����)�K�¡�H�����1¦=�

���=�����3���m�#�D�m��¢:���F������¢0� ���J¥N�m�J����� �J������§������ �=� ����� ¤=¬�38�D�H�3¦��3�/�@���±���F�m§���� ���#�����J¥����$���J���m���#�J�J�54=«��3�°�K���F¨��
�����J� ���3¢.���°������¢0���e�m�J�}�����#�D��� �=�����5�����^�Z���£���}¢0���m�K«��m�Z� �®�^���'��� �=� -0¬
­£�J���¯�������3�����k�J���H��¨)��«0�H�J�D� ���$������¢0���Z� �����K�#���'��� �=���/��� �m��������� �J�m�3¢°¨)�0¢0� ���k�����}¢0¤�����§°���Z�m� §9«J���D�m�=�k�J�=�k���

� �8��¨)��«0�8¢0¤�����§����¡�m� §9«J�����m�����®�����m«��#�,¬�­£���}�m����¢0�3�����£�J���Z�m��4=«�� ���3¢��m�����J�D�{���J�D� ����¤��m�J���J¥%��¨)��«J�8¢0¤�����§����
�m� §9«J�����m�������0¨�«0�Z�±�Z����«���¢.�J����¨���¨J� ¤�¥���¦��¡�9¨)���m�m�3�Z�J���'�m«��m�}��ª@����¤����¡���1¦��¡�f�#�D���3¢���«J�£�J����¨�� �3§u���£���}���1¦��=¬

6 «��#�.��ª@�m�J�e�m���K����¤"����¢.¢0�7���J� �m���������K�����K�K���J���J¥9�m�J��� �J��������¢.�^��� ���J�}¢0��� ¦=�K�.���J��§����m�����������G�J���3�m�K�����3¢"���®�
�#�D�m���K�����=§°�����'�£ªB�=�m§ ���%�m�1¦=�e�m�����K��¬0­£�J�}���3�=¢0�K���m�J��«J��¢.�m�KªB�K���m����«����m�KªB�K���K���K�3�HªB����§������¡¢0���#�������£� ª@���J�K¤������
�J�3�3¢0��¢ ¬

� �8���1¦=������¥=����� +3�3¢9�m�J�G�����)�K�H� �.�^«��#�"�$���1¤��m�����H���G�^�����m��¨�¤°�J�m���^�3���m���J¥$��«��k§����m��¦D�D��� �=�%ªB�����^�=� ¦����J¥¡�m�J�
������� �0���3¢°§������ �=�°���m�=¨J� �3§®¬�­£�J�K�%���£��� �����=«0�m��� ���£�m�J��¨��=�^���£��¢0�3�¡���%�^�J�����J�Z¢0��� ¦=�K�%���J��§%�D��� �=�°����¢9�m�J���J����¨�� �3§��
��� �m� ���=§��J«0�m���J¥����J�$¢0�K����¦1���m��¦����£��ª��m�J�$§����m�����,¬838�K���3��ª �m�K�����}�J���3�m�K���Z�^�=� «J�m�������£ªB�=�Z����� �m���}�m���#�J�J���K����� �m���3�£���
�m�������������0�m��¢ §������ �=� �J����¨�� �3§�¬ $�����������¤"� ���°¢0������«����¡¢0�K¥=�K�J�3�����m���K���m�3�e����¢ ªB«0���m«��°������� ¨)��ªB�����°�H�%¢0�#�1� ��«J�
���=������«��m� �=���3¬
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�������J���m«J¨��f�3���8�K� �m���K�8�m� §��J���&���3¢����J�$�J����¨J���K§ ¨�¤.�����m«J§�� �J¥°�����D�Z���J���^�����m�¡ªB«J�����m�������8��ª��m�J�9�m�K�m���0�m��¢®¨��0¢0���3�
�����¡���J�D�����=�����m���K�Z�����J�m�����#�J����«��^���J¥�� §��J������� �ZªB«J�����m�������Z����¢��^«��#�����K���G�#���=�K�,¬
��� �K� �m���K�8�3���m�}�H�}ªB�3�±�8�m�����8�m���}�m�J�3����¤����}���1¦��}�3�����=«J���m�3�m��¢.�£���Z�J���8¦=�K��¤������m¤%ªB���e��� ���J��§%�D���������"«��m�

���=§��������3¢®�����m¤0�f���K§%�¡�^«��#�N��� . 0 ; 6 !	� � )Z�J� ���8� 6 �1¤���
© ���#��¬�¬ �N�°�m��� �J�®�����D�$¢0¤�����§����°�^��§�«������m����� ���=�¡�
�)���m�3���m������� ¤®��«J¥��°���J��� ���K���m����� ���m���%� � ���J��§%�D��� �=� ����¢ �±�¡�H�=«J��¢ ¨������m����§°�9�J���e�m�.�J«J�#�^«��±�e�m�J���e���J�J�����K�D��� �=�
�����3��¬ ; � �H�%�£�������3¢ �m� ��©����K��¢��1�f�����^�¡�m�J�������=¢0� �m��������� ��¤ ����� §%�D��� �=� �m�3�#��� �J�54�«J�3�/� ���J���#�:�����°�����m«J� �m��¦������ «��m�
����¢����K���,���J�D����¨�¤�§°���f�Z���J� §%���m���#�/���m«��#�.�m�������m�J�3¤.�3����¨��}«��m�3¢���� �°¢J¤�����§����¡�m� §9«J���D�m�=�3¬
!Z�����m���K�<¨)�K���!�J�/���J���#���������m�3� ªB�m�=§ �=«J�<�������8�����Z«J�J�&���3�D�m��������ª�������� �0���3¢¡¨)�0¢0¤¡§°���m�����,¬1­H¤������3���=�m��§�«J���D�����#�

���1¦=�k�^�)�3�K����� �,+K��¢e��� ¥=�����±���J§%� ����¢¡��§��J���K§��K�������m�������,�m�£�#�����k�3�����¯��ª0�3�=�#�¡������¢¡��ª0���������0�m��¢G§����m�����¡�f¤�����2K��§��J�����K�±�
ªB«J�����m�������/�<�m� ��«��m����¢J�����£�1¦����7�5�)����¤��J��§��������¡������¬ ¬�!Z�J�J��¤�� ��¥ �^�J�����J�%¢0�m��¦��3� ���J��§����m����� §��3�����}�®����¢0���#���J¥=����ª
§������ �=�s�^�)�3�K� ���3�D��� �=� ����¢o�����J� ���K��¨J��� � �f¤ ��� �m� ���J� ����§�� �f¤���� ��ª}�m�K�m���0�m��¢ §����m�����<¬ �o�J�3�o� §��J���K§��K����� �J¥F�
�m� §9«J�����m�=�8� �G¨��=�^���K��� ��¤ �f«��^�m�&�����G�����������J¥%��� ���������0�m��¢ §����m����� �=�8��¨J���=�#�.¨)�1©®§������ �J¥�«��^�9��ª��%�����G���K�3¢J�3¢®���
���J�D� �^�����m�%ªB«����'��� �=�

Y (t)
����¢ ���$�m«��#� �±�9§��������¡� � ªB���®���±�m�m���"§������°�����m¤ ªB���$�m�J���^�%�)�K�=�J� �"�m�����$� §��J���K§��K���

�m� §9«J�����m�=���3¬ ",���Z«����^«J§�§%�����,+K�

•
­£�J� �������F��� ���m���^�3�=������� �D�Z�.���J��§%�D�m�=���"�m�F«��^� ¢0¤�����§���� �m� §9«J���D�m�����{���±���s�m�#��¢J�±��� �=�����G�H�3� �e�����D���
���J��§%�D�m�����.�m���#�J�J�54�«J�3�3¬

•
­£�J�}�^�=� «0��� �=�����G���m���^�3�=�Z��� ���D�Z�H��¢0¤�����§����e�^��§�«������m����¢0�3¦��3� �=���3�H����� �����%«����=�����J�¡§°���m��������ª/�m�K�m���0�m��¢
¨��0¢0���3���=���m�J�=«J¥����±�Z���K���}� 'B�J���Z�J�K��¢0�3¢.�m�����J�D�()��^���D���¡ªB«J�����m�����

Y (t)
¬
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/H«J¨J���°�^�J�����J�3�e�������"¥=����¢ �#�J�������}ªB�=�e�m�)�3���&���J¥.�m���$�m�#���f���'������¤.��ª¯�m�J�°� ���J�����e§°���m����� ¨)�3�3��«��m�$���J�K¤ ���m���f�����K�
¢0�&�)�3�m�3���m����¨J����¬/� �%§��3�����������D�����J�®§°���m�����i�������J¥ �m�J� �m�J� ���J�®��� # �m§°�����m� $'¬/� �%�����m� §��������9�m���D���m�J�®¦=�K�����K�±�f¤
����¢ ���3���3� �3�����m����� �K��� ¨)�9ªB�=«J��¢ ¨�¤ ¢J� ���3���e¢0�&�)�3�m�3���m���D�m�����N��ªk���J����«J¨J���°�^�J�����J��¬��G«J�e�J����ªB�K���3¢N�#�J�������9���e��«�¨J���
�J�=��«��J�±ªB�=�m§�� 0 �m�J��� ���3�3¬�­£�J�������������k��ª<�m�J��� ���3�H���H�3�=�^��� ¤����=��¦��K�m�m��¢�� �����9���K��§��)�=�m�±��� �=�%��ª<��«�¨J���G��«J��¦��e�^�3¥�§��K���#�
'
�m«��#�®�����K«J¨J���¡¨�� +K���K�Z��«��m¦=�3���m�K��� :�� ªB���Z¢0�K����� ���V)£����¢��m�J�3¤.�m«J�J�)���m�£������«J�J� ªB����§ ���3¤"�)�=�m�±��� �=���K¬
� ª¯�H�����1¦��$�%�m�����K���m�J� ���J�

C(u)
���J�K� �±�8���Z�����#��§������K��� +3�3¢�� �®���J�$¥=� �=¨����,�����#��§������K�

u
¬8� �$«��m�}�m�����^�������

�m�J� ���J�¡��� ����¢����=� �����Z� �®�^�������¡¥=� ¦=�K�®�9¦D��� «J�
u

�0�m���D�Z���

C(u) → (x, y, z)
' %�)

3Z�D���K¦=�K�������J�¡�����#��§��K�m�K�
u
���£�J�����°���D��«J�����5�����#��§������K�HªB������«J§%����������«��^�=¬�� �Z����4�«J� �m�}¢0�&%%�K«J� ��ªB�����°��«�§����

�m�®�J���3¢J�����e�K©0�=�'��� ¤ ���J���#� ���=� ���}��� ���m�J��� ���°�K�����m���^�)����¢��Z���®�.¥���¦��3� ¦D����«J�
u
¬�38«J§%�����¡���m�°§�«��#� ¨)���^���K�$���

�m��� �J�����J¥"���®�m�3�m§%����ª����J�������¡���K�J¥��m���
s

��� ���f���3��¢®��ª@���J�9�m�J��� ���}�����#��§������K�
u
¬8� �$�H�=«J��¢����J�K����ªB�=�m�}�������¡�m��«��^�

�°�m�3�����#��§��K�m�K���,+3�D��� �=�"��� �=�
U(s) → u

' .�)
; «��#�������D�����}���1¦��

C(U(s)) → (x, y, z)
­£�J���8���K�����#��§������K��� +��D�m�����.§%�������8�m�K���m���m� �����}���J�K�������8�%�=�J�}���������$§%���J�J���J¥"¨)���f���K�3� �m������������§°�K�m�3�

u
����¢

�m���$���#�G���K��¥��m����������§°�K�m�3�
s
¬�­£�����£���Z¢0«J�¡���°�m�J�¡ª
�=�'���m���D���±ª

u1 < u2

�m���K�
S(u1) < S(u2)

3Z�3�m�¡���J�
S

0�ªB«J�����m����� �������J�����#�¡���K�J¥��m��ªB«J�����m����� ����¢��±�8�������J�$����¦��K�#�m�e��ª/�m�J�
U

0?ªB«J���'�m�����<¬ !Z�����m���K�8¢0�&%"��«J� �f¤
�0�K�K«J���Z�±ª����®���J��§����m�=�Z«��m�3�8�%�m���=���$�m�J� ���J�=¬����®���J���G�K�=�^�}�J���H�=«J��¢®¨)�$�����m�K�����3�^�m�3¢���� �m������� ªB¤����J¥"���D�{ª
�=�f�G���
��¨Y�f�3�'��§��D¦��3�<�������J¥����J�H�m���=�����m�J��� �J�=¬3�������m���K���H�=��¢J�,�J��§���¥����@�J���@�£�����,���J���=¨��f�3���<�m�G§��D¦����=� �m������������§°�K�m�3�
u
����«J��¢®¢0���'�����m�$� �3¬������^�m�3�=¢®�J�}�£�������£���"�^�)�3�K�±ªB¤®�%�m���8��ª

(t, s)
0 �������#�7�J�m«��#�®�m���D�8���J�3���m�J�����J��§����m����� ������¦��3�

�D�G�m�J���m��§��
t
�m���K� ���J���=¨��f�3���G����«J��¢®���1¦=�}�m�#�1¦��3� ���3¢.�m���°¢0���^���������

s
�������J¥"�m�J�°�^���=�����m�J��� ����¬5­£�J�3�m������� �#�Z��ª

�m��§��°����¢ ¢J���^����������������«��m«���� ��¤®�m�3�J�m���^�3���m�3¢ ¨�¤ ���^���K��� ���3¢ ¦��K���0��� �f¤ �^�J�����J��'?­£�J�9�m�K��§ ¦��3� �0�K�±�f¤®���G�����^�m�=�m���K���



� ��� ��� � � ���?� 
���� ��� ��� ��� �(� � �����,������� � ���  

����¢ �)�K���������}�.��� �^�m���"���=�0ªB«��m� ��¥���� �m�J�"�K�����m�K©��¡��ª£¢J¤�����§������m� §9«J���D�m�����<¬ ! ¨��K�^�m�3�}�H�=��¢N����«J��¢ ���m�=¨��3�m��¤ ¨��
# �m�#�1¦��K����� �J¥°¢0���f�#�����K�=$-)

V (v) → (t, s)
'  )

",���=�����J¥����e��4�«��D��� �=� ' .�)8���9�m�K�$�����D�¡�/4�«����m����� '  )Z���m�
	 �e���3��� ��¤®«��^«���¨J����¬ �N�������$�����m�K���3�^�m��¢ ��� �f�����f��� �J¥��m�J�
�/4�«����m�����4�m«��#� �m�����9�����K��� ����¢4���4���#��� �3�J¥���� ªB«J���'��� �=�,¬��o�J���#�:§%�����}ªB����§ �m�J���m��§���¢0��§%��� � ��� �m�J�����#�
���K�J¥��m�,¬

S(t) → s
' 3 )

­£�J� ¦=�K�����K�±�f¤F��«J��¦��������%�m� ªB«J�&��� �8�m�J� ���m�=���3�^�f¤:�����D�%���J�K���®��©0���f�#�%��©J�����m��¤4�����
s
0 ¦D����«J��ªB���"�3¦��K��¤:�)�=���^��¨J���

t
0 ¦1��� «���¬ �8���J�K�������^�£���J�Z§������ �=���m���������H¢0���'�����m��¢�¨�¤9�m���Z¦��3� �0��� �f¤9�K«J��¦�������«J��¢�¨��Z�m���#����� ¤°��§°�)�=���m� ¨J����¬=� ������«J��¢
���/4�«J���m����� ��¨��f���'�¡�m�®¨)�%�D�¡�f�H�®�)�=�m�±��� �=���¡�D�¡�m���"�m��§°�°��� §���¬,­£�����¡§��3�����e�m���D�¡�m�J�%¥=�����J� ��ª

V
§�«��f�}¨)�"�

ªB«J�����m�����°��ª
t
¬ 6k«J�^�m���J¥¡� �¯��� ������¥��K�m�J�3�@���£�^�3�������D���m�J�

C
0�ªB«J���'��� �=�����1¦=��¨)�K�3�9���K��������§����m�3�m�,+K��¢¡� ���m�J��ªB�=� ���D��� ��¥

�£�1¤�¬
C(U(S(t))) → (x, y, z)

' : )
­£�J��� ������� �m�3�����#��§������K��� +��D��� �=�"����� �D�Z�����®���J��§%�D�������m���������°�����m«J� �m��¦��3� ¤����±�������J�$�^�������¡��«��m¦=�G�������K��§%�£��ª<� ���
���#�H� �3�J¥����9����¢��J�£�K���9�m������� ªB¤$§��D¦��3§°�3�����@� �9�m�3�m§%�/��ª��m�J������� §%�D��� �=�$��� §��£�����#��§��K�m�K���

t
�1�m���#����� ¤}����¢0�3���3��¢0�3�=�

��ª��m���e¥=� �=¨���� �����#��§������K�
u
¬

� ����� ���J�D�M�m��� �J¥��G�m�K�3§ �J�m�K�^�f¤®�3�=�^¤������D�H�3¦��K�8�H�°�K��� �J���¡¢0�K��� ¦=�9��������¤��m���K���<ªB«J�����m�������8ªB���e�/4�«����m������� ' .�)
����¢ ' 3 )=�/�D�9���3�=�f�9�J���°� �:���J�"ªB�#��§��3�H�=�m�N���J�K���

C
����¢

V
���m��¨����m� �K«J¨J�����m�J� ���J���K¬��N�.���1¦��"�m� ������� ªB���°�

��«J§��K�����3���5�^�=� «J�m�����"��ª<�/4�«����m����� ' : )'¬�� �£�����J���H������¢%�m�°� §%��¥=� ���Z�m���D���m�J���J¥=��¥=���H�3¦��3�������#�^�Z�����K�����8�������°ªB���
�m���X�����^�Z����¢®�m�3�K����¢�¢0�K����¦1���m��¦����H��ª@��4=«��D�m����� ' : )'¬ ��¤����J�J��¤�� �J¥°���J�$�#���������m«J���$����¢��J���0¢0«����£��«J���}�H�¡¥=���

dC(U(S(t)))

dt
=

dC

du

dU

ds

dS

dt

' -�)

����¢
d2C(U(S(t)))

dt2
=

d2C

du2

(

dU

ds

)2(
dS

dt

)2

+
dC

du

dU

ds

d2S

dt2
+

dC

du

d2U

ds2

(

dS

dt

)2 '
��)

� �J�D�����J¥9�m�����Z�H�¡�������%���±���®�K«J¨J���¡�J����«J���±ªB����§ � 0��^��� ���J�3� '
���Z�K«J¨J���}��«J��¦��¡�^�3¥�§��K���#�V)��m���¡�m�K��§%�72

djC(u)

duj

ªB���
j = 0, 1, 2

�������3�=�^��� ¤N����§��J«J�m�3¢��,¨J«0�}���J�%�m�3§%�����J� ��¥.���K��§%�¡� � �/4�«����m��������' -�)¡����¢ '
��)¡���m���m��§��K�������}§°�=�m�%¢0�&%"��«J� �$���
���=§��J«0�m�$�m�������¡���¡�3�����J��� ����¢®������� ¤��m���K���5�m�3�J�m���^�3�����D��� �=���HªB���£���J�

U
0�����¢

S
0�ªB«J�����m�������3¬

� ��� ��� � �*� > ����� ����� ��� 
 : �#�;� � ��� �*��� �;� � �

� �D� � �K�/«��¯�D�^�#���#�e�m�������m�=¨J� �3§ ��ª5¢0�����K��§°���J¥G�m�J�£¦D����«J���@��ª����J��ªB«J���'��� �=���
U(s)

����¢
S(t)

¥=� ¦=�K�
s
0,����¢

t
0 ¦1��� «��3�

����¢"���J�$¢0�&%%�K«J� �m���3����� ����§��J«J�m���J¥��m�J�3� �Z¢J�K��� ¦D�D��� ¦=�3�3¬

����� � ��!#"%$'&)(*!,+�-/.0�21�34+5&6.0798:+
� ª/�H�¡���1¦=�¡���K«J¨J���e�K«J��¦���' ªB�=��� ���^���������$���K«J¨J���G¨)��+3� �3�8��«��m¦=��)H� �

3
0�¢0��§��K���m� �=�����,�m���=���

C(u) =





x(u)
y(u)
z(u)



 =





axu3 + bxu2 + cxu + dx

ayu3 + byu
2 + cyu + dy

azu
3 + bzu

2 + czu + dz





�G������§%���m���±©����������m�����

C(u) =









u3

u2

u
1









T

M = UT M
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­£�J�3� �±�¡�K���®�����m� ��¤.¨)��¢0�3�m��¦���¢.�m�����8�m�������#�¡� �3�J¥���� ªB«J�����m����� ��ª����J�9�K«J¨J���$��«��m¦=�}���G¢0�!�����3¢®¨�¤����J�$ªB�=� ���D�����J¥
ªB«J�����m�����

S(u) =

∫ u

0

(Au4 + Bu3 + Cu4 + Du + E)1/2du
' 1�)

�o�J�3�m��'B���
3
0�¢0��§°�3���m� �=�����,�m�����K��)

A = 9(axax + ayay + azaz)

B = 12(axbx + ayby + azbz)

C = 6(axcx + aycy + azcz) + 4(bxbx + byby + bzbz)

D = 4(bxcx + bycy + bzcz)

E = (cxcx + cycy + czcz)

� �JªB���m�m«J�����m�3� ¤��,�H�"�3��� �J��� ����¢:���:��������¤��m���K���¯�K©0�J�m���m�m�����NªB���}���J���$� ���m�3¥��#���k�m� �H�%���1¦��°�m� ¢0� �®��«J§��3�m���K���
���=���K¥=�����m���������®���#¢0�K����� ����¢.�m�J�}¦D��� «J�¡��ª

S(u)
¥���¦��3���

u
0�¦D��� «J�=¬ ",�K�£«���� �����m�0¢0«��K�e�m�J�¡ªB«J���'�m�����<¬

s(u) = (Au4 + Bu3 + Cu4 + Du + E)1/2 ' � 4 )

­£�J�������9�m�J�®���#�%���K�J¥��m�F� ���m�3¥��#����¢ '?�^�3�����J�)�K��¢0� © � ªB���°§�������¢0���#�������.)�«��^��¢:���4�m����¢0�7���J� �m�����F��ª
S(u)

¬ ��¤
�����J� ¤����J¥�3Z�=�m�J�3� 	 ���m«�� �eªB���£ª
�=�'������� �J¥°�)����¤�����§������������$�K���.���K�����±���8���J�}�/4�«����m������� �������°§������¡����§��J«J���D��� �=�����
ªB��� �3��¢0��¤"ªB����§

s(u) =
√

(((Au + B)u + C)u + D)u + E
�o� �m� ���J�$���J�K�=�m¤����$���1¦��9¢0�K¦=�K�����)�3¢ �m�%ª
���������9�3��� �J���#� ����¤.��«J§��3�m���K���<���=���K¥=�����m�����®�m�=«0�m���J�������J���#� ªB«J�&�������
��«����m��4=«�� ���K§��K���#�����%���3�^ªB�=�m§%�������¡����¢����3��«J�#���K¤"����¢.���J�K� �����J� ¤��±�Z���®���#¢0�K���m�%�K��§��J«0���¡�m�J�$�����G� �3�J¥����,¬
� ª����J�%«��^���$��«J¨����%¨)��+3� �3�9�K«J�m¦=�3�e���J�K�:���J�K���%�����������m���K�����J�J���=���#� �m� �3¦D����«��D�����m�J�����������K��¥��m���<���J���#�:���

¨��=�^��¢ ��� �m�J�%�K����¦��K©���«J���¯�J�����)�K�m�f¤���ª�¨)��+K���K�}�K«J�m¦=�3�e����¢ �m�J�%¢0� /��=�f���K� �^��« ��� ¥=�����±���J§ ' ªB�=�¡¢J������� ���¡�^�3� �  � )'¬
­£�J�°����¥������ �m�J§ ���?4�«J�±���°�m��§°��� �°����¢®�����m� ��¤®��©0�J�������J�3¢ ¬ ",�K�8�m���°�K�����m�����,�)���������G��ª��%¨)��+3� �3�e�K«J��¦����m�K¥=§°�3���8¨��
P0

�
P1

�
P2
����¢

P3
¬ � �D�����®�3�^�m��§����m�eªB���£���J�$���#�e� �3�J¥����.���Z�K��§��J«0���3¢�¨�¤

Sest =
2
∑

i=0

|Pi+1 − Pi|

� ªk���J��¨)��+3� �3�e�K«J�m¦=�����G�m«�%"�����K����� ¤ � ���G���J�K� ���J���G���f��� §%���m������«���¢ ¨)�°¦��K��¤®�����=�m�}�m���m�J�°�m������¦D����«J����ª¯�m�J�����#�
���K�J¥��m�,¬@��� �=��¢J�K�¡�m� ¢J���m�3�m§����J�"� ª£�m�J�%¨)��+3� �3�9��«��m¦=�°��� � �����K����«J¥=�N���%§��3���m«J�����m�J�����m�m�J�=¥��������¯¢0���f�#�����K�%��ª
�m���¡�f�H�����=�=���m�=�5���=� �����/�J���J���#�®�����G�J�����m�J�¡�3��¢����=� �����/���m�°���J�}� ���J�}¨)���f���K�3�����J�¡�f�H�°�K��¢��K�����m�����5�)���������3¬J�^�3�
��¥=«J�m� � ªB���Z���.����� «��^�m�#�D��� �=�,¬

ε = max (dist(P1, P0P3), dist(P2, P0P3))
� ª8���J���9¦D��� «J�®���°¥����3�D���J�K�9�m�����F�m��§��.�m�J���3�m�J�=��¢ ¦1��� «��"���m�J�3� ���J� ��«J��¦��.���°�J��� � �D���K�J�=«J¥��<¬/­@� ������¢J� �.�m�J�
�J����¨J���K§ ���J�8«��^���¯���J�8¢0� /��=�f���K� �^��«"��� ¥=�����±���J§W���$�^«J¨5¢0��¦���¢0�8�m�J�8¨�� +K���K�H�K«J��¦������=���}�f���$�^§%�������K�k¨)��+3� �3�H��«��m¦=�3�3¬
��¤��m�J�}�K����¦��K©���«J��� �J�����)�K�m�f¤���ª<���J�¡¨�� +K���K����«��m¦=�3���H�e���J�D�o�����D�£�m���K���£�K����¦��K©%��«�� ���������G�m§%����� �3�£����¢%��� ¥=���m�K�
�J�m�m���J¥8�<�m���H�%�m� §��J��¤ ���K�)�3�D�¡���J�"����¥��=�m� �m�J§ �=�N�����#�N��ª����J�3�m�%�J�3� ¨)��+K���K�$�m�K¥=§��K�����3¬��k¦��3�m¤ ��� §��%��� ����¢ �
¨)��+K���K�e��«J��¦������J���#� ��� � �D�8�3�J��«�¥�� ���������±�Z���J�����3�K«J�#�^��¦��$�m«J¨5¢0� ¦����^����� ����¢ �=¢J¢��m�J�9�3�m�±��§%�D�m��¢ ���#�¡���K�J¥��m� ���
�m���¡�m���#���,�K��§��J«0���3¢®���#�e� �3�J¥������m�°ª
����¬
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P
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P
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P
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P
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S
est
=||P
 3
-P
2
||+||P
 2
-P
1
||+||P
 1
-P
0
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e
1


e
2


e=max(e
1
,e
2
)


$@��¥�«��m� � 2J­£���$���#�8���K�J¥��m�®�3�^�m��§%�D���e��ª/�°¨)��+3� �3�Z��«J��¦��}����¢"���J� � �D���J�3���£§��3�=�^«J����¬

­£�J��¨�����«0�f¤:��ª8���J� ����¥������ �m�J§ ���°�m�����°� �"����§��J«J�m�3�°���J� ���#�"���K�J¥��m� ��¢J���0�m��¦��3� ¤ «J��� ����� �m��§��.��«J§��3�m���K���
���=���K¥=�����m�����°�m�=«0�m���J�3� '
� �����£���J�Z�K©����K��¢J�3¢��^��§����m���*)!�����J���#�����1¦����,�J©0�3¢��^�m�3���m�,+K�Z����¢9«��J� �����£���J�=�m�����=���K¥=�����m�����
����«0��� �J�����������#���3���"�����m�3¥��#�D�m�8���±���.��¢����0��� ¦=�8�f���K���^�,+K�������J�e��� ¥=�����±���J§ ����ª
���£�^��§��J���K�H�m����§��J���K§��K��������¢ 4�«J� �m�
ª
���^�3¬
­£�J�3�m�e���Z���J�}�m«J¨0�m�����f¤��H�¡���1¦=�e�D¦=�K��� ���=���3¢,¬=­£�J�$��� ¥=�����±���J§ ¥���¦��3����¨��D¦=�e�K��§��J«0���3���m���$���#�8���K�J¥��m�®��ª@�m�J�

�K����� ���£¨�� +K���K�k��«��m¦=���m�K¥=§°�3���3¬H�N�Z���m�����=���K���m���f���3¢�� � ����¢J� �J¥e���J�Z���#�����K��¥��m�°��ª��m�J�Z�m�K¥=§��K������ª����J��¨�� +K���K�k�K«J�m¦=�
��«J�J�J���J¥$ªB����§

0
�m���^�=§��8¦D����«J�

u
¬ ; �9���G�m�J�=«J��¢.¢0�9�������J� �m����� �^«�¨)¢0��¦����m�����%���9¥=�������J�}�^�3¥�§��K���£���������3�m���=��¢0���J¥

�m�°���J�}�����#��§��K�m�K�£�����m�K��¦D��� ���}�������H���"����§��J«J�m�¡�m���¡�����e���K�J¥��m�®��ªf¬
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P ��.=C�����������

���

������«J�Z�3���m�e��ª��K«J¨J���¡¨�� +K���K�Z��«��m¦=�3���m���$¢0� /����^�m�K� �^��«®����¥��=�m� �m��§ �������3�H���J�¡ªB����§

Pk,i(u) = (1 − u)Pk−1,i(u) + uPk−1,i+1(u)

�o�J�3�m�

k = 1, . . . , 3

i = 0, . . . , 3 − k

!Z��¢
P0,i(u) = Pi

!��'��«�������¤"¢0�(/��=�f���K� �^��«��3���.¨��e«��m�3¢%���°�K��§��J«0���e�9�)�����=�£���"�m�J�}��«�¨J���G¨)��+K���K���K«J�m¦=�8¨)�3�3��«��m�
B(u) = P3,0(u)

¬
3Z�D���K¦=�K�e�H�������°¥������J¥.�m�®«��m�9� �}ªB���}�K��§��J«0��� �J¥����J���J�K� ���������m�=�@�)���������eªB���¡���J�%�^«�¨)¢0��¦���¢J�3¢N¨�� +K���K�$��«��m¦=�3�3¬
­£�J�}�J�3���K�����m�����5�)�����=�#�£ªB���£���J�}¨)��+K���K�Z�K«J��¦��¡�m�3�J���3�m�K���m���J¥9�m�J�X���#�^�£����� ª���ª<�m���$�^«J¨5¢0��¦����m� �=� �����

Pk,0
ªB�=�

k = 0, . . . , 3

����¢"���J�$���=�=���m�=� ���=� ���#��ªB���£�m���}¨�� +K���K�Z��«��m¦=�e���K���m���^�3�=��� ��¥����J�}���=�f�������±ª¯�����

P3−i,i
ªB�=�

i = 0, . . . , 3

����� "%$'& ( !,+5-/.0��� !���� $	��
�! . !
$'7
��� .0798:+
���"���J�����m�3���m�����"���8�£�����H�m���D�^�#���#�9�m�J�e�J����¨J���K§ ��ª<¢0�����K��§�� �J¥��m�J�e���K��������§°�K�m�3�m�,+3���m�����°ªB«J�����m�����

U
���m«��#�%�����D�

C(U(s)) → (x(s), y(s), z(s))

­£�J�¡ªB«J���'�m�����
U(s)

���£��¨�¦�����«��m� ¤����J�}����¦=�K�#�^�GªB«J�����m�����®��ª��m���$���#�8���K�J¥��m��ªB«J�����m�����
S(u)

¬J­£���D�Z���

U(s) = S(u)−1

��� �m�J�%�����^�$�^���'��� �=�N���"�m�1�W�m�����
S(u)

����«���¢N���J��¤ ¨)�"�^�=� ¦=�3¢ ªB���}��«J§��K�����K������¤"�,�m��� �$���e�m�J�3�m�KªB�����°��§������m�m��¨J� �
�m�%����¦��3�^�Z� �8��� ���#¢0�K�£���%��¨0�#�����.���J�}ªB«J���'�m�����

U(s)
¬ $����m�m«J���D�m�3� ¤��J�����K���®�K��§��J«0���

S(u)
�)�^�%���$�K���.��«J�����=«J�

�J����¨J���K§u� ���m�%�°�������Z�^�����#�#���J����¨J���K§®¬��e��¦��3�®�°¦D����«J�
s

�J���¡�m�3�����#��ªB���Z�°¦D����«J�}��ª
u
�^«��#�.�����D�

|s − S(u)| < ε

� ª �H� ����¢%�^«��#�%�
u

0�¦D��� «J�����J�K���������1¦��������m«���� ��¤$ªB�=«J��¢
U(s)

'
���±���J�����m�J����«J§��K�����K�����������K�#�����K�
ε
)�¬8)����K�������m���D�

�������1¦=�9�"�=�J�9�m���=�J�°§°�=�J�������J���$���K���D��� �=� ¨��K�f�H�3�K� �m�J�°�����#��§��K�m�K�
u
����¢ �m�J�����#�}���K�J¥��m�

s
¬ ­£�J���G���m�=���3�^�f¤

�K���^«J���3�������D���K©0�=�'��� ¤"�=�J�}���������K©0���^��������¢���«J���J����¨�� �3§ ���������m����«0�m�����<¬

����� � 7�
�!��%!���� $���
�! . !
$ 7
��� .0798 +
���:��� ���J��§%�D��� �=� �=�J��«��m«������ ¤ �����D�Z�}�

t
0 ¦D����«J�%����¢ �£�������e��������¢ �m���"���������3�m���=��¢0���J¥

s
0�¦D��� «J�=¬�!8�¡���%���1¦=�

��©0�J�������J��¢9���m�3¦�����«��^��¤}�m�����k�m���m�k��ª5���0ªB����§%�D�m���������/�f¤��J���K����¢0�3������� ¨)�3¢°¨�¤�«��^���J¥$�¡�^�$�3����� ��¢°¦��K���0��� �f¤��m�J� ���J�=¬=­£�����
���

V (v) → (t(v), s(v))
$J����§ �m�J�������e���K�3¢.��� ����¢®��ªB«����'��� �=�

S(t) → s
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Root Search


compute C(u)


s-value


u-value


C(s)-value


S(u)


C(u)


$���¥�«J����%�2 ; �#�J�3§%�D�m���}¢0�#�1��� ��¥9��ª<�m���}§°�K�m�J�0¢.ªB���Z�����e���K�J¥��m���m�3�����#��§��K�m�K���,+3�D��� �=�,¬

­£�J�®�J����¨J���K§ ����¦��3�m¤:�m� §��������°�m� �m�J� �����.� �3�J¥����F�����#��§������K��� +��D�m�����:���m�=¨J� �3§®¬k­£�J�.§%��� � ¢0�&�)�3�m�3�����®���������D�
�m�����£��� §��$���}�����¡� ���������J¥°ªB���Z�%�K�����m���^�)����¢J� �J¥������=��¢0�������m�}����¢.�J���8� # §��3�=�^«��m�!$G��ª��m�J�$�m�J��� ����¬838�D�H�3¦��K�����m�J�
�J����¨J���K§ �K��� �^�m��� �k¨)�"�m����¦��3¢N��� �®�m� §��������¡ª
���m�J�����,¬,­£�����$���/�<�=�}�.�������$�m�3���#�#� ���m�=¨J� �3§®¬��e� ¦=�K�:�

t
0�¦D����«J�����

�m�3���#�#�"ªB�=�Z�
v

0 ¦D����«J�$�^«��#�������D�
|t − t(v)| < ε

�o�J�3�9���F����¢9�m«��#�9�
v

0 ¦D����«J�H�m�J�3�9�������1¦=�H�=�'�m«������ ¤¡ªB�=«J��¢}���J��¦1��� «��H��ª
v(t)

����¢$���£�K���°���=§°��«0�m�H�m�J�
s
0�¦D����«J�

¢0���m���'��� ¤®���
s(v)

¬5­£�J�}��� §��$��ª/�m�J�����J��§����m����� ���Z�"�^�m�������m��¤����������3�=�^���J¥�ªB«J���'�m����� �=�����J������� §%�D��� �=�®�K¦��=� ¦=�3�/�J�^�
��«��H�������£�J�m�=¨J���K§ ���£¥=«����#�������K�3¢°���9���1¦��8�K©J���'��� ¤%�=�J�8«��J� 4�«J�}�m����«0�m�����<¬�­£�J���£§��3�������=«J�£�J����¨J���K§ �����m����¦D��¨J����¬
� ���m�������J��¦=�K�����K�±�f¤®�m�J� ���J�9�����Z�m��¨)������¤0�m���3����� ¤�§��3���J� ��¥�ªB«J�����=�Z���$���1¦=�$��©0�J�������J�3¢ �3������� �3�3¬�­£�����G¥�«����������m�K���
�m���D�Z���¡�3���®�������1¤0� ����¢®���.«J��� 4�«J�}¦D����«J�eªB���

s
'B¥=� ¦=�K�®�

t
0 ¦D����«J��)�¬

Root Search


compute s(v)


t-value


v-value


s(t)-value


t(v)


s(v)


$@��¥�«��m�(.Y2 ; �#�J�K§%�D�����¡¢0�#�1�����J¥9��ª@���J�}§������J�0¢�ªB�=�£�m��§��}�m�3�����#��§������K��� +��D��� �=�,¬
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d2C

du2
,

dC

du
,

d2U

ds2
,

dU

ds
,

d2S

dt2
����¢ dS

dt
� �G�������m����¢0¤°���J�D� �J�D� �m�$������¢0���Z���J�¡¢0�K��� ¦D���m��¦��3����ª

C
��� �m�.�m�3�����'�����

u
¬=­£�J���H� ���1¦��3��«��H���±���%�m�J�e���K§%�����J���J¥

ªB��«��Z¢0�K��� ¦D���m��¦��3�
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C
¢0���^��¥����D�m���Z���J�

i
	 ��� �K���=��¢0�������m��¬5­£�J���¡�/4�«����m�����N�3���N¨��%�m�K�K� �m�®¨)�9���m«��9¨�¤ �����=��� �J¥®�D�

�m���}� �3�J¥������
ds

�0��ª@���J�$���#�e� �3�J¥����.�3� �3§°�3���Z¨��K�f�H�3�K�
C(u)

����¢
C(u + du)

��­£���D�Z���K¬

ds = ||C(u + du) − C(u)||

)��3���m� �m���J¥°�m�J�������¡���1¦��

ds =
(

dC0(u)2 + ... + dCn−1(u)2
)1/2

=

(

dC0(u)

du

2

+ · · · +
dCn−1(u)

du

2
)1/2

du
' % � )

��¤%����§������m���m� �=�%���±�����/4�«����m����� ' % 4 )¯� �������J���������#¢����°�m�K�8�m��������4=«��D�m����� ' � 1 )¯����� ��ª
���'���m��«J�=¬ $���¥�«J���  °�^���D�Z�
�J�D�

ds
����¢0�7���J�3¢������m�J���K�}¢0��§��K���m� �=���3¬

� �D��� �K��«��£�m��¤%���%�m���^�=� ¦=�Z�m���}�/4�«��D��� �=��ªB����§u�m�J�¡�����m��¢0�}�=«0�3¬

d

du
C(u) =

[

3u2, 2u, 1, 0
]

M

",���=�����J¥��D�����J�
i
	 �����K���=��¢J� �����m�¡���e¥=���

d

du
Ci(u) = 3M0,iu

2 + 2M1,iu + M2,i
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ds=(dC
x

2
+dC
y


2
+dC
z

2
)
½


C(u)


C(u+du)


dC
x
(u)


dC
y
(u)


dC
z
(u)


$�� ¥=«J���  *20��� ��«��^�m�#�D��� �=�.��ª<�m���$¢0�!�����±��� �=����ª
ds
¬

; 4�«����m���J¥9�m�J�$��¨��D¦=�G��4=«��D�m������¥���¦����£«����m���¡ªB����� �D�����J¥��/4�«����m�����

(

d

du
Ci(u)

)2

= 9 (M0,i)
2
u4 + 12M0,iM1,iu

3

+ (4 (M1,i)
2

+ 3M0,iM2,i)u
2 + 2M1,iM2,iu + (M2,i)

2

� �m� �m���J¥��m�����£���®§����m���±©�ªB�m�=§ ¥���¦����£«��

(

d

du
Ci(u)

)2

=
[

u4, u3, u2, u, 1
]













9 (M0,i)
2

12M0,iM1,i

4 (M1,i)
2

+ 3M0.iM2,i

2M1,iM2,i

(M2,i)
2













� �D��� �K�Z«����������e�m���$�^«J§�§%�D��� �=�®� ���m�%�=�K���=«J���

n−1
∑

i=0

(

d

du
Ci(u)

)2

=
[

u4, u3, u2, u, 1
]

n−1
∑

i=0













9 (M0,i)
2

12M0,iM1,i

4 (M1,i)
2

+ 3M0.iM2,i

2M1,iM2,i

(M2,i)
2












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",�K�Z«��£�J�D��� ���m���0¢0«��K�G���J�¡ªB�������D��� �J¥��J�������m�����

A = 9

n−1
∑

i=0

(M0,i)
2

B = 12

n−1
∑

i=0

M0,iM1,i

C = 4

n−1
∑

i=0

(M1,i)
2

+ 3

n−1
∑

i=0

M0,i + M2,i

D = 2

n−1
∑

i=0

M1,iM2,i

E =

n−1
∑

i=0

(M2,i)
2

�o� �m���m�J���^�¡���K��§%�£�H�}�K���®�3���m��� ¤"�m�K�¡�����D���J�D���H�}�K���®���m� �m�
s(u)

� ���m���GªB�=� ���D�����J¥°ªB����§�2

s(u) =
√

Au4 + Bu3 + Cu2 + Du + E
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",�K��«��������^«�§°�e�����D�����¡�3���®���=§°��«0�m�
q′ ≡ dR

dt

����¢
q′′ ≡ d2R

dt2
$J����§ ����¤0�m���3�£�H�e���J�D�s�����D��� ª/�9¨)��¢J¤����������m���

��� �m� ���J¥=«J�����£¦��3� �0��� �f¤
~ω
���J�K�®� ���Z�#�����J¥=�G��ª��=�m���K�������m�����.�H�=«J��¢.¨)�

dq

dt
=

1

2
[0, ~ω] q

$J����§ �m�J�������¡¢J�K��� ¦=�
d2q

dt2
=

1

2
[0, ~α] q +

1

2
[0, ~ω]

(

1

2
[0, ~ω] q

)

­£�����Z���

q′ =
1

2
[0, ~ω] q

q′′ =
1

2
[0, ~α] q +

1

4
[0, ~ω]

2
q

; �������}���¡���J�D�
q

�
q′

�J����¢
q′′
���}�K���.�����m� ��¤"���^�=�����m�

~ω
����¢

~α
���HªB����� �D�Z�

[0, ~ω] = 2q′q∗

[0, ~α] = 2

(

q′′ −
1

4
[0, ~ω] q′

)

q∗

��� ���m�J�3�¡�H�=��¢J�G� ªH���9�K���N�K��§��J«0���9«J�J�m���m�J���m�3���=��¢ ¢J�K��� ¦D�D��� ¦=����ªk�m�J�������#�D�m��������� # �m�J��� �J�!$ �D§����m�����®���J�K� ���
�K�����K��§��J«0���¡�m�J�}����¤0�m���3���+4�«��������±��� �����H�}���m�e� ���=�����J¥°ªB����¬


